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QUESTION ONE
(@) Using elimination method, solve the following simultaneous equations
() 5x+3y =35
3x2y =2
(i) 3a+2b=12

4da—-b=5

(i) 2x+y=12

X-y=3 (18mks)
(b) Solve; -x+4=-6 (2mks)

QUESTION TWO

(@) Determine the value of x in the linear equations below
(i) 4(x—2) +4 = 3(2x-3)
(i) 3(1-x)+4(x+3)=30
(i) 2(x+3) —3(x-5) =20
(iv) *h+%l5=1

(12mks)
(c) Solve for the unknowns
Q) Y[, —~Ya<5
(i X-3/4 > X/2 + 5/2 (8mks)

QUESTION THREE

(@) Using elimination method only, solve the following set of simultaneous linear equations
(i) 2x+3y =38
3X+2y=7
(i) 2x + 3y =600
X+ 2y =350

(10mks)



(b). By use of graphical method, solve the following pair of simultaneous equations
2y +x =38
1+y=2X
(10mks)

QUESTION FOUR
(@) Solve by factorizing:
() 3¢-8x+4=0
(i) 5x°-13x—6=0
(i) 2+ 7x — 15=0
(iv) xX*-12x + 36
(20mks)
QUESTION FOUR
(@) Using elimination method, solve the following set of simultaneous equations.
3X+2y =5

2x +3y =4 (8mks)

(b).Solve using quadratic formula method

X +6x =4 (6mks)



(C). Evaluate;
(1) -3(x-2) = 5x
(i) 2y (1+2) =8

QUESTION FIVE

(@) Solve the following quadratic equations using factorization
() 12¢-24x+9=0
(i) 123 +2x-2=0
(i) 9¢-8x—-1=0
(b) Solve the simultaneous equation below
X +y=4
y—-x=2

QUESTION SIX

(@) Simplify, giving the results in index form.
() 7°x 7 x 72

(i) (2°°

(i) r*xr’xr®
(b) Express the following as positive indices.

(i) 2%

(i) 23%a°
(iii) 3a™
(V) @b°)*

(6mks)

method

(12mks)

(8mks)

(6mks)

(8mks)



(c) Solve for ain:
(i) 2*=Yga

(i) 3x2%*° =768 (6mks)

QUESTION SEVEN

(a)The 4" and the 10" terms of an arithmetic sequence are 8 and 50 respectively. Find the 1%
term and the common difference.

(5mks)
(b)  Solve the following linear equation
4(x+5)-6(2x+3)=3(x +14)-2(5-x) +9 (3mks)
(c)Variable y is inversely proportional to x?, and y = 5 when x = 2. Calculate:
(1) ywhen x=5
(i) xwheny =28 (6mks)
() T varies inversely as VS. If T=15 when S=36,calculate:
(1 T when S=49
(i) Swhen T =10 (6mks)



